Exercise Set 1.2
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Which of the following sets are equal?

={a, b, c,d} ={d,e, a,c}
C=1{d,b,a,c) D =\{a,a,d,e,c, e}

. Write in words how to read each of the following out loud.

a. xeR'|0<x <1}

b. {xeR|x<0orx >1}
¢c. {n €Z|nis afactorof 6}
d. {n € Z* | nis a factor of 6}

. Is4 = {4})?
. How many elements are in the set {3, 4, 3, 5}?
How many elements are in the set {1, {1}, {1, {1}}}?

. Is2 e {2)7

. How many elements are in the set {2, 2, 2,2}?
. How many elements are in the set {0, {0} }?

- Is {0} € {{0}, {1]}?

. Is0 € {{0}, {1})?
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Which of the following sets are equal?
A=1{0,1,2}
B={xeR|-1<x<3}
C={xeR|-1<x <3}
D={xeZ|-1<x <3}
E={xeZ'| -1 <x <3}

For each integer n, let T, = {n, n*}. How many elements
are in each of 73, T_3, T) and T,? Justify your answers.

. Use the set-roster notation to indicate the elements in each

of the following sets.
a. S={neZ|n=(—1), for some integer k}.
b. T={meZ|m =1+ (—1), for some integer i}.
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c. U={reZi2<r<-2}

d V={seZ|s>2ors < 3}

e W={reZ|l <t < -3}

f. X={ueZ|lu<ddoru=>1}

.Let A={c,d, f. g}, B={fj}, and C={d, g}

Answer each of the following questions. Give reasons
for your answers.

a. IsB C A? b. IsC C A?

b. IsC € C? d. Is C a proper subset of A?
a. Is3 € {1,2,3}? b. Is1 C {1}?

c. Is {2} € {1,2}? d. Is {3} € {1, {2}, {3}}?
e. Is1e{1}? f. Is {2} € {1, {2}, {3}}?
g Is{1} € ({1,2}? h. Is 1 € {{1},2}?

i Is{} {1, 2))?  j Is{1}c{1)?

a. Is ((—2)%, =25 = (-2%, (-2)»)?
b. Is (5, =5) = (=5, 5)?

¢ Is(8—9,7/-1) = (-1, -1)?

d. 15 (5. -2°) = (3.-8)
Let A={w,x,y,z} and B =

notation to write each of the following sets, and indicate
the number of elements that are in each set:

a. AXB b.B x A
c. AxA d. BxB
Let §=1{2,4,6} and T = {1, 3,5}. Use the set-roster

notation to write each of the following sets, and indicate
the number of elements that are in each set:

a. SxT b.T xS

c. §x S d TxT

{a, b}. Use the set-roster "



